

## 918 Howard Avenue | Suite F | Biloxi | MS 39530 | P: 228–388–1950 | www.mpeng.us

February 23, 2022

Michael Reso City of Diamondhead

RE: City of Diamondhead City Hall Parking Lot – Change Order #2 Moran Hauling Inc. Diamondhead, MS

Dear Mr. Reso:

Attached you will find Change Order No. 2 for City of Diamondhead City Hall Parking Lot from Moran Hauling Inc. This change is to replace the failing base in the parking area that was milled as part of Change Order #1. The total increase is **<u>\$27,688.50</u>**. The contractor has given a credit for the portion of work that was approved in Change Order #1, and not completed due to the issues of the failing sub-grade. Please see attached for the cost associated with proposed changes.

Additionally, Moran Hauling has asked for an additional 15 days to complete this work. The new contract completion date is April 7, 2022.

Should you have any questions or concerns, please do not hesitate to contact me.

Respectfully submitted, MACHADO | PATANO, PLLC

Den he

Gerrod W. Kilpatrick, P.E. Machado | Patano



		CONTRACT CHA	NGE ORDER	NO.2				
OWNER:		CITY OF DIAMONDHEAD	an a					
CONTRACTOR MORAN HAULING, INC.								
PROJECT NAME: CITY HALL PARKING LOT						*****		
	CT NUMBER:							
REASON F	.)							
		the Following Changes to the Cont	treat Plans Spacific	nations and Contr	act Doci	umon ts '		
You are Her	eby Requested to Comply with	the Following Changes to the Cont	ract rians, specific	ations and Contra				
	DEDUC	TIONS				UNIT		TOTAL
ITEM NO.	I	DESCRIPTION	QTY	UNIT		COST		CONTRACT
CO#1	Asphalt Credit		1	LS	\$	(5,516.00)	\$	(5,516.00)
	I		******	ΤΟΤΑΙ	L DEDI	JCTIONS =	\$	(5,516.00)
	ADDIT	TONS			T	UNIT		TOTAL
ITEM NO.	T	ESCRIPTION	QTY	UNIT		COST		CONTRACT
TIEMINO.	Removal of Pavement		686	SY	\$	6.50	\$	4,459.00
	Unclassified Excavation		114	CY	\$	6.50	\$	741.00
	Mirafi 140N Geotextile Fab	ric	686	SY	\$	2.50	\$	1,715.00
	"610" Crushed Aggregate B	*******	160	CY	\$	69.00	\$	11,040.00
	Asphalt Binder Course		77	Tons	\$	96.00	\$	7,392.00
	Asphlat Surface Course		77	Tons	\$	98.50	\$	7,584.50
	Sodding		42	SY	\$	6.50	\$	273.00
	1		-	TOT	AL AD	DITIONS =	\$	33,204.50
	TOTAL DEDUCTIONS = \$ (5,516.							
TOTAL ADDITIONS						DITIONS =	\$	33,204.50
NET RESULT =								27,688.50
ORIGINAL	L CONTRACT AMOUNT:						\$	197,872.25
	TOTAL CONTRACT AMOUNT:						\$	47,737.04
	CONTRACT AMOUNT:						\$	245,609.29
THIS CONTRACT CHANGE:							\$	27,688.50
		Research Operation and American Strategy and American Strategy and American Strategy and American Strategy and					\$	273,297.79
	CONTRACT AMOUNT: CONTRACT COMPLET	ION DATE.					\$	3/23/2022
	CONTRACT COMPLET							15
	CONTRACT COMPLETI							4/7/2022
NOTE: THIS E	OCUMENT SHALL BE AN AMEND	MENT TO THE CONTRACT AND ALL PI	ROVISIONS OF THE C	CONTRACT WILL AF	PPLY.			
RECOMMENDED BY:		MACHADO   PATANO, PLLC ENGINEER						DATE
ACCEPTED	ВҮ	MORAN HAUELING, INC.	CONT	RACTOR			2	/23/22 DATE
APPROVEI	D BY:	CITY OF DIAMONDHEAD,		OWNER				DATE

## MORAN HAULING, INC.

10380 Three Rivers Rd Gulfport, MS 39503 Office: (228) 206-1850

February 23, 2022

## Proposal for: Diamondhead City Hall

## ATTN: Gerrod Kilpatrick

Prices are good for (30) days from bid date.

Proposal includes all labor, equipment, mobilization.

Exclusions: Bonding, Layout, Testing, Traffic Control, Permits, Taxes, Dewatering, Dust Control, and Tapping Fees.

Pricing for the following scopes:

Remove the existing failing base course of asphalt in the East parking area. Remove 6" of failed subgrade material, install Geotextile fabric, and install 6" of new Crushed Aggregate Base Course. Install new asphalt base course and surface course. Estimated quantities are as follows:

Removal of Pavement Unclassified Excavation Mirafi 140N Geotextile Fabric Crushed Aggregate Base Course Asphalt Binder Course Asphalt Surface Course Sodding	686 SY 114 CY 686 SY 160 CY 77 TONS 77 TONS 42 SY	\$6.50 SY \$6.50 CY \$2.50 SY \$69.00 CY \$96.00 TON \$98.50 TON \$6.50 SY Sub Total	\$4,459.00 \$741.00 \$1,715.00 \$11,040.00 \$7,392.00 \$7,584.50 \$273.00 \$32,931.50
CO#1 Credit			-\$5,516.00
		Total	\$27,415.50

\*Bid as per civil plans and specs only. Any changes in scope will be re-priced.

\* Graded to within 1/10 tolerance

\*\* All quantities are approximate. Unit prices will be honored if actual quantities very from quoted amount.

We appreciate the opportunity

Jab ab

Zach Anderson Vice President

Accepted by: \_\_\_\_\_

Signature:

\* Graded to within 1/10 tolerance

\*\* All quantities are approximate. Unit prices will be honored if actual quantities very from quoted amount.